Trig 4.7

Solve radical equations* =
Solve radical inequalities < 2 *Algebra 2 Ch.5
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radical equation
extraneous solutions (might have to DQ...)

radical inequality (solutions must be REAL)

Quiz 4.5-4.6
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EWE eeewel!
Rule of thumb: number of ¥ = number of rounds...

2 p
(4] SO]V(\.’"::‘ + 19—&— \ﬁ)

K+io =2 ¥ %= ”
g SR v




Inequalities: Solutions must be REAL! What would make them not real?

O soive Vax +5< 10.



Solve each inequality.

9. Vix+4=8 10.3+ V4a-5=10



7. V6x —4=V2x + 10 8.Va+4+Va-3=17






